N = 133

133 circles in acircle

radius = 0078522069613  density = 0.8:
ratio = 12.735273088519  contacts = 2

ne
8
8
g
g
2
8
1]
=
t

N =136

136 circles in a circle

radius = 0.077725687011  density = 0.821614409310 st
ratio = 12.865759550679  contacts = 259

N = 139

139 circles in acircle
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radius =  0.076869934722  density = 0.821349174129 Deser
ratio = 13.008987240727 contacts = 284

N = 142

142 circles in acircle
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adius = 0.076066384386  density = 0.821625466357 LEsm

N =134
134 circles in a circle
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dius = 0.078299667964  density = 0.821532292448 Deser
s = 266

rac
ratio = 12.771446239770 contacts =

radius = 0.077432523961  density = 0.821424020083 DEser
ratio = 12.914469900258  contacts = 275

N = 140

140 circles in acircle

ra
ratio = 12.814254771482  contacts

rag
ratio = 12.961304310899 contacts

N =135

135 circles in acircle

dius = 0.078038092564  density = 0.
ts = 2

N = 138

138 circles in acircle

dius = 0.077152729078  density = 0.821451017383 gEsm
=272

N = 141

141 circles in acircle

radius =  0.076570982895  density = 0.820836159004 Deser
ratio = 13.059777505733  contacts = 278

N = 143

143 circles in acircle

adius = 0.075772495907  density = 0.821030372455  [gowe
ratio = 13.197400824981  c: s = 268

ra
ratio = 13.107255204909  contacts

a
ratio = 13.247789225081  contacts

dius = 0.076293623455  density = 0.820721094168 DEsm
ts = 271

N = 144

144 circles in acircle

dius = 0.075484292738  density = 0.820494496827 a5
ts = 2
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